
   Platinum Series Bug Shield  

   Non Drill BUG DEFLECTOR   

      

    Installation Instruction: M  

    

The installation of this bug shield can be done by a single individual, but 

it is not recommended.      

         
1) Thoroughly clean front hood area.      

    

2) Open Hood.   Some vehicles have a black plastic insert that has to be 

removed before installation.  With a screw driver CAREFULLY remove insert 

to reveal the remaining bolts.        

         

3) Remove the bolts from the two extended grill brackets using a 10mm socket. 

   

4) Then remove the bolts from the rest of the grill.  Remove grill.    

   

5) Install the shield into the existing holes with the two screws provided.  Before 

you screw them in place check to make sure it is centered by "eyeing" the part.  

    

6) Position the bugshield in the center of the hood and reinstall the two extended 

grill brackets first and then the remaining bolts.      

   

DO NOT OVER TIGHTEN BOLTS.  

   

7) Close hood and tell all your friends about your FANTASTIC new shield from 

WADE.    

     

Cleaning Instructions: Wash with warm water and a mild soap solution using a 

soft, clean cloth or sponge.  Use of cleaners not approved for acrylic, or use of 

improper solvents could result in permanent damage which will not be covered 

by the warranty.        

  

Warning:  All items are made of breakage resistant material, but to avoid 

damage, machine car washes are not advised.    

         

  

2- 5/16 washer, 2- 5/16 x 1/2 BAS screws 

 

www.wadeauto.com       www.westinautomotive.com  

 

   Platinum Series Bug Shield  

   Non Drill BUG DEFLECTOR   

      

    Installation Instruction: M  

    

The installation of this bug shield can be done by a single individual, but 

it is not recommended.      

         
1) Thoroughly clean front hood area.      

    

2) Open Hood.   Some vehicles have a black plastic insert that has to be 

removed before installation.  With a screw driver CAREFULLY remove insert 

to reveal the remaining bolts.        

         

3) Remove the bolts from the two extended grill brackets using a 10mm socket. 

   

4) Then remove the bolts from the rest of the grill.  Remove grill.    

   

5) Install the shield into the existing holes with the two screws provided.  Before 

you screw them in place check to make sure it is centered by "eyeing" the part.  

    

6) Position the bugshield in the center of the hood and reinstall the two extended 

grill brackets first and then the remaining bolts.      

   

DO NOT OVER TIGHTEN BOLTS.  

   

7) Close hood and tell all your friends about your FANTASTIC new shield from 

WADE.    

     

Cleaning Instructions: Wash with warm water and a mild soap solution using a 

soft, clean cloth or sponge.  Use of cleaners not approved for acrylic, or use of 

improper solvents could result in permanent damage which will not be covered 

by the warranty.        

  

Warning:  All items are made of breakage resistant material, but to avoid 

damage, machine car washes are not advised.    

         

  

2- 5/16 washer, 2- 5/16 x 1/2 BAS screws 

 

www.wadeauto.com       www.westinautomotive.com 

 


